
»9311«

22.01.2021 1/129311

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 

380

850

84
2



13A

5A

3A

4A
1A

6A

8A

7A

9A

7A

8A

9A

15A

12A

15A

2A

11A

10A

10A
11A

2/12 9311 22.03.2021

4 xCe

Ø5 / Ø5

4 xN
M4 x 20

8 xDd

Ø3,5 x 35

8 xEc

L - 34

19 xG

131 x 20

4 xNo
Ø3,5 x 15

10 xEa

Ø1,2 x 20

25 xI

45 x 20 x 16

1 xIb

2 mm

4 xC

Ø8 x 35

14 xA

4 mm

1 xF

Ø15 x 11

19 xGa

Ø7 x 50

4 xH

Ø5,8 x 11

12 xBb

17 x 310

4 xQa

D02 4 x

M4 x 10

2 xL

20 x 16 

x4

F01 1 x

Ø4,0 x 60

2 xEn



7A

8A

9A

11A

10A

F01 1 x

Ø8 x 35

4 xA

Ø3,5 x 35

8 xEc

3/12931122.03.2021

F01 1 x

131 x 20

2 xNo

M4 x 20

4 xDd

Ec

Ec

Ec
Ec

L - 34

4 xG

Ø15 x 11

4 xGa

7A

Dd
Dd

No

Ga

Ga

G

G

A

A



Ø8 x 35

4 xA

L - 34

6 xG

4/12 9311 22.03.2021

Ø5,8 x 11

6 xBb

2 mm

4 xC

17 x 310

2 xQa

5A

1A

2A

A

A

A

A

G

G

G

G

G

G

C

C

C

C

Qa

Qa

Qa

Bb

Bb

Ø5,8 x 11

6 xBb

17 x 310

2 xQa

Ø8 x 35

2 xA

A

A

Bb

BbBb

Bb

Qa

Qa

Qa

Bb

Bb

Bb

Bb

Bb

Bb

Bb

Bb

Bb



Ø8 x 35

4 xA

L - 34

9 xG

3A

6A

A

A

A

A

G
G

G

G
G

G

G
G

G

Ø15 x 11

6 xGa

6A
1A

2A

Ga

Ga

Ga

Ga

Ga

Ga

5/12931122.03.2021



6/12 9311 22.03.2021

Ø15 x 11

9 xGa

Ø7 x 50

4 xH

3A

5A

Ga

Ga

Ga

Ga

Ga

Ga

Ga

12A

12A

12A



7/12931122.03.2021

13A

Ø1,2 x 20

25 xI

45 x 20 x 16

1 xIb

I
Ib



Ø3,5 x 15

2 xEa2 xL

20 x 16 

8/12 9311 22.03.2021

Ø4,0 x 60

2 xEn

L

Ea
En



15A

x2

9/12931122.03.2021

4 xCe

M4 x 20

4 xDd

x
Ø3,5 x 15

8 Ea

131 x 20

2 xNo

Dd

Dd

Dd

Dd

No

Ea

Ea

Ea

Ea

Ea

Ea

Ce

Ce

Ce

Ø5 / Ø5

4 xN

4A

N

N
N



10/12 9311 22.03.2021

15A

15A



11/12931122.03.2021

D02 4 x

M4 x 10

D02

D02

D02

D02
D02

D02



12/12 9311 22.03.2021



»9315«

24.01.2021 1/109315

D GB Assembly instructions Montageanleitung 
NL PL Instrukcja montażu Handleiding voor de montage 
TR RU Инструкция по монтажу Montaj talimatı 
FR IT Istruzioni di montaggio Notice de montage 
CZ SK Návod na montáž Montážní návod 
HU Szerelési útmutató RO Instrucţiuni de montaj 

270

850

84
2

10
10



5A

3A

4A
1A

6A
8A

9A

2A

10A

11A

2/10 9315 24.03.2021

4 xCe

Ø5 / Ø5

4 xN
M4 x 20

4 xDd

L - 34

12 xG

131 x 20

2 xNo
Ø3,5 x 15

16 xEa

Ø1,2 x 20

25 xI

45 x 20 x 16

1 xIb

2 mm

4 xC

Ø8 x 35

16 xA

4 mm

1 xF

Ø15 x 11

12 xGa

2 xQf

11A

Ø4,0 x 16

2 xEa

2 xLN

75 x 15 Ø5,0 x 80

2 xJk

7A

2 xO



Ø8 x 35

16 xA

L - 34

8 xG

2 mm

4 xC

A

5A

A

A
A

6A

A
A

A
A

2A

A

A

C

C
G

G

G

G

1A

A
A

C

C

G
G

G

G

A
A

A
A

3/10931524.03.2021

7A



4/10 9315 24.03.2021

Ø15 x 11

8 xGa

1A

2A

6A

Ø15 x 11

4 xGa

3A

Ga
Ga

Ga

7A

L - 34

4 xG

G

G

G

G

2 xO

O O



5/10931524.03.2021

11A

Ø1,2 x 20

50 xI

45 x 20 x 16

1 xIb

11A

10A

I
Ib

I Ib

2 xQf

Ø3,5 x 15

8 xEa

Model nr. 9311

Qf

Qf

Qf

Ea
Ea

Ea
Ea Ea

Ea



Ø4,0 x 16

2 xEn2 xLN

75 x 15 Ø5,0 x 80

2 xJk

6/10 9315 24.03.2021

LN

En

Jk



7/10931524.03.2021

Ø5 / Ø5

4 N x

4A

N

N

N



4 xCe

M4 x 20

4 xDd

x

Ø3,5 x 15

8 Ea

131 x 20

2 xNo

Dd

Dd

Ea

Ea

Ea

Ea

Ea

Ea

Ce

Ce

Ce

8A

9A
Ea

Ea

Ea

Ea

Ce

Ce

Dd

Dd No

Dd

Dd

No

8/10 9315 24.03.2021



9/1024.03.2021

8A

9A

9315



10/10 9315 24.03.2021


	Alby-9311 - montage.pdf
	ALB9311-1
	ALB9311-2
	ALB9311-3
	ALB9311-4
	ALB9311-5
	ALB9311-6
	ALB9311-7
	ALB9311-8
	ALB9311-9
	ALB9311-10
	ALB9311-11
	ALB9311-12

	Alby-9315 - montage.pdf
	ALB9315 -1
	ALB9315-2
	ALB9315-3
	ALB9315-4
	ALB9315-5
	ALB9315-6
	ALB9315-7
	ALB9315-8
	ALB9315-9
	ALB9315-10




